BHARRBRNLUFRCBREE (PR - FELREKBFEZRS RAFEETORER

XA MAIMERRLS
HKFETE) T
T g SR DL BHERERS THERER | BrARESR | 2BHML 536_5% AR = L (BEAE) seg
[ e XL ER50% L L BE
#=0) | GE=0) | 7= | G | (7= | GEL G£=0)
R g 0 BETISERICHN B
BARRE | AORLRER 0 3 0 5 0 0 1| 100.00 100% S5 20 4F (100%)
H29
RERHER |REtw 52— 2 0 2 4 0 1 0| 5556 50% FE A3 EERIE | 3
TREHR | RLUERERARML 2 1 2 3 0 0 1| 55.56 100% ﬁg%gz%&&;‘i;ﬁt 2
H30 ITAREHER | RIWLERBLRML 1 1 2 3 0 0 1| 6250 100% ig%/iﬂgzﬁﬁ‘é;’iiwt 2
- o AL OERE (BHMA1%E. ZIEHASER
XALRR—VER (MR 7 2 9 20 0 1| 2881 xkmz, 2k (52%) 6
Aoz . ZHRAMKXERIED |ZMAREEERXL
XAEAR—VER | TALEEME ‘ 2 0 9 0 1| 8889w eipxien s, (88%) 3
ITREHER | LEROE 0 1 0 1 0 0 1| 100.00 100% ﬁg%ﬁ‘gﬁaimt 1
%)
TAEEE | BHEAE 1 0 0 1 0 0 2| 75.00 100% ﬁ%ﬁﬁ%#mt 1
RO1 TAREEE ([ RLUVIFVrELAER 1 3 2 4 0 0 2| 75.00 100% ﬂ%ﬁzgﬁ%ﬁmt 2
ITREHER |AIRAE 0 1 0 0 0 0 1| 100.00 100% %g%;ﬁ 1REFAE 1
%)
wigin@ER ([ RUBEShHEUE— 0 1 0 2 0 0 0| 100.00 100% THERISRTERE 1
BARHR | RLUEBRSEL LY S— i 12 3 17 0 0 6| 8974 100% SIEA4R, KIERER | g
ZFERE
R PR HARAT 0 0 0 0 0 1 0| 100.00 HA1SREFXE 1
o vz | - o . Tt LAE1BEFE
XAERR—YERR |EAMRFEEHARE 1 0 0 1 0 1 0| 6667 100% 4 (679%) 2
R02
XAERR—YR | RIUEHRSE S A 1 0 1 1 1 1 o| 4000 40% gggﬁ 1w |
XIERR—VE |[PEMRPEEHERES 2 0 i 2 0 0 o| 4000 40% i%%/)j!;ﬁ%&;’iiﬁt i
BrE K LIFLOD PR 45 SR B AR 0 1 0 3 0 0 1| 100.00 ﬁg%ﬁz;%’éfiﬁ"ﬁ 1
YOE 5 =n (FRR-&]1F00E1  |ZER1EZERE
BRFLEIYR |PAREFES IYRAMES () 0 1 0 2 0 0 1] 10000 | "Tre U0y, [(1009) 1
RO3 _ BIERTE, KPR
fRERHER |IKERRZRA 0 1 1 1 1 2 1] 7143 67% EHAEEERL 3
(71%)
S . BRI ELLER2E
XAERAR—YR |HEE 1 1 0 2 0 0 0| 75.00 100% S AL (75%) 3
BR RIBT ARER 1 1 1 2 0 0 1| 66.67 é';%/f%éﬁmt 1
<ozm | . ZEAE, BlEA2E
BRFLDOCYR | RILEHEAN L 0 4 1 5 0 0 1] 90.91 %33t 1E (90%) 4
RO4
_ . o . BRI ELLERAIE
@R ([ RUTRXRE S 0 13 0 20 0 0 6| 100.00 100% S5t 1E (100%) 4
T BiEA2RE L EMR2E
XIERR—VR |BFEFLEFER—L 0 3 3 3 0 0 0| 66.67 52 4E (679) 4




BT AR LFXCBBEE (PR - FELRKEFZRS RSFERRA

X B R/IMERRERS
B L) T
EHRERE L WEER D& R BHERESR THERESR | BrHARES | SEML 53,;31& WE = o [BIERE)
[ A F#R1EE50% U LEBZ
(Fn=0) | G0 | Fn=0) | GE=O | (Fn=0) | GEL (F=0)
BB  |[FEoBARER 0 1 1 2 0 0 1| 80.00 mhEmEEAs
6)
TAEER |LHLLE 0 0 0 0 0 1 0| 100.00 100% KA IRzAE
(100%)
R05
ITAREER |[LHEAE 0 0 0 0 0 1 0 100.00 100% ﬁgglgiﬁmt
%)
S B HA1EEERE
XIERR—VE |BEE 0 0 0 0 0 1 0| 100.00 (100%)




BHARBRNLUFERCBREEE (R - FELREBFZRS REOFFELREE XERN(AKERRN) Eo+rvialbyMEEER

XKBMR/MERERRL
BRAK (h TRl T E
whEE| B8 RO EH BULAES | KMAES | BRARES | SEOML | gx I HCEDLE [T
Fo=x0) | GE=O) | FO=X) | GERO) | (F0=X) | GE=O GER) gz () REIE%
XAEAR—VR |(KEE S~ 1 0 2 0 0 0 1| 2500 %g%/iH;Z%‘é;‘imt 2
RO6 BE  |RRELARER 1 1 4 1 0 0 1| 3750 fgg%/i”;zg’éﬁmt 2
XAERR—YER |BEHHARE 0 0 0 0 4 1 0| 20.00 i(};‘iﬁ%éﬁmt 2
B S/ BT AREM 2 2 4 2 0 0 1| 4545 ?E@ﬁ%@img 3
HRE  [WEHER of o o o 0 o| oo0| athqu(n |REIBEERL :
TAEEE |REERRAE 0 0 0 0 1 0 o| 000 100% ﬁggl/%é;imt 1
TAREER |(hEHLE 0 0 0 0 1 0 o 000 100% ﬁg]ﬁ{’ﬁmt 1
RO7 .
g |Z/ELonER 0 1 5 2 0 0 1| 4444 fg;%/ﬁzgé'*mt 2
SHIEREER  [HBAE LS 3 2 2 1 0 0 o| 37.50 Tt 2% ?Eﬁéﬁ%@iﬁzg 3
TFRAIEZI+a
X RR—VER |HzEEE 1 2 0 5 0 0 1| 8889 ;‘;t!‘ftb fj fmj %é 3
#E%
SUERK—VER [T TR 1 0 3 1 2 0 2| 3333 i&ﬁ%gjmg’é 3
SUER K-V [HEHRF TS MR 0 1 1 0 0 1 0| 6667 ﬁg%i;gé}ﬁﬁ“: 1
XERF—VE | LB RS TSRS R ol 1000 SRAE L )
RO8
TAEER | LOHLE 0 0 0 0 1 0 of 000 100% ﬁg%é;ﬁtﬂ: 1
TABER |(mEOESMBVAE 0 0 0 0 1 0 1| 5000 100% ﬁg‘g%éﬁiﬂt 1
BB |EELORER 1 1 4 1 0 0 0| 2857 i_g% /{:”;2%’57*3“'3 2
BB |EELARER 0 1 2 1 0 0 0| 5000 shEmimeal |
TAEER  |RULELE 0 0 0 0 1 0 0| 000 100% ﬁg%é;‘iaﬂt 1
R09
TAEEE  |SREALLE 0 0 0 0 1 0 o| 000 100% ﬁg;ﬁéﬁzﬂt 1
XAERR—VE (AR EE S AR 2 0 3 0 0 0 1| 1667 ?Ig@ﬁé@img 3
A RR—VER |/ B ARG | 0 T 0 o 000 U e )
AR | EATLARER i1 o 2l o o o of o000 ZEmEEARL |
R10
SERR—YE |T5TH5NBVIES 0 1 1 2 0 0 1| 80,00 fgg%/ﬁ”;%??iiut 1
R11 gl I IR AR 0 0 0 0 2 0 o| 000 ﬁg g/f%’éiiiﬂt )
B (ABRHBRNL 0 0 0 0 2 1 0| 3333 f’éﬁ/l)g’&ﬁﬁ“: 1
R12 TTERFADUTERTE [ pevaa
XAEAR—YE | RIUBEX AR ol ml 8 o o 1| 5038 BB 5B OB o o | T
=)




